QID: 201 -

In the following question, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

Arafafa vy # Ry 7w Reedt 4 © vy g
(?) & AT W A q&H HEA @ FRAT

Options:
1)5

2)6
3)7

4)8
Correct Answer: 6
Candidate Answer: 6

QID: 202 -
How many triangles are there in the given figure?

&1 o sl & fored) Phuger 2

Options:
1)5

2)6
3)7

4)8
Correct Answer: 7
Candidate Answer: 7




QID: 203 -

A word is represented by only one set of numbers as given in any one of
the alternatives. The sets of numbers given in the alternatives are
represented by two classes of alphabets as shown in the given two
matrices. The columns and rows of Matrix-l are numbered from 0 to 4 and
that of Matrix-ll are numbered from 5 to 9. A letter from these matrices can
be represented first by its row and next by ils column, for example, ‘B’ can
be represented by 20, 67, etc., and ‘L’ can be represented by 32, 75, etc.
Similarly, you have to identify the set for the word “TRUNK”.

U Qg Shad U WEAT-OAHE g goffar g, o R fawedl 3t @
forell o ot T R §) Rwedt &t BU v HEan-weE HERT & g aat
g gafw T €, SR TR RT M ar gt o ¥ aneygl & FE AR
Ufth T HEAT 0 & 4 & 3 Mgl T 5 T 91 37 IRl A T AHER
W UG SEh URh 3R A & TaFH W' R GURN o §HhaT B
SGRATT & fow ‘BT 20, 67, 3NTE RT GAT S Fhal & aar ‘L @i 32,
75, 3G T T S Twhar 1 AT ot § IUw uA # RT w=
“TRUNK" & foT Tofg o7 UgaiEer g

Matrix-1 Matrix-ll

Iy Hieyg-Il
01234 5(6|7(8|9
0|1G|IC|O|Q]|J SIN|IP|R|T |V
1|K|P|H|B|L 6|X|Z|B|E|H
2|B|R|Q|J|H 7IL|J[M|D|E
3|S|A|L|T|B 8|F|I|O|C|N
410|K|Y|G|U 9(Q|IX|P|Y |G

Options:

1) 58, 21, 44, 88, 11

2) 33, 22, 44, 89, 40

3) 33, 57, 44, 89, 41

4) 58, 57, 44, 30, 10

Correct Answer: 33, 57, 44, 89, 41
Candidate Answer: 33, 57, 44, 89, 41

QID: 204 -
From the given answer figures, select the one in
which the question figure is hidden/embedded.

& 7% SR HTgiadl A € 30 IR HEA g
form & uy sy BT 2

7




Options:

1)

2)

3)

4

Correct Answer:

Candidate Answer:

QID : 205 -

Which answer figure will complete the pattern in the
question figure?

BT W 3¢ ATHd UH AP & TawsT bl
HIE?




Options:
1)

2)

3)

4

Correct Answer:

Candidate Answer:

QID : 206 -
If @ mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

gfe TR UUT @ AB I@T W @ AW, af & 7%
TOT ABIGAT A T Rid W AETT W Mg @
el ufafesa g@ofr?




Options:
1)

2)

3)

4

Correct Answer:

Candidate Answer:

QID: 207 -
A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

A= % Uy aElaal A fGEmT 3gER ReTe @l
ATSHT D JAT Weld & I 9% FE T e
s g geme

’I
L4
s

— — -
e e o e e ey e e g



Options:
1)

2)

3)

4

O
o ©
u]

Correct Answer:
o}
o]
o ©
o o

Candidate Answer:
o
O
o ©
g o

QID : 208 - By interchanging which two signs the equation will be correct?
36+4+19x2 =47
b1 <Y eIl T 3N N TRER geeT IR FHIBROT St 8 SIeT?

36 +4+19x2=47
Options:

1) + and x

+ dAT x

2) =and =

=qr +

3) +and +

+ dT +

4) x and +

X T +

Correct Answer: + and +
+ deT +

Candidate Answer: + and +
+ dT +

QID:209-If4#3 #2=210and 9 # 6 # 5 = 743, then
7#8#2=7?
&4 #3#2=21079#6#5=743 7, a

7#8#2=2

Options:

1) 932

2) 560

3) 650

4) 653

Correct Answer: 560
Candidate Answer: 560




QID : 210 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Angered
2. Angry
3. Anger
4, Ample
5. Ankle

ffafe el T ereamier # 3 arel A & AR faw|

1. Angered
2. Angry
3. Anger
4. Ample
5. Ankle

Options:
1) 41325

2) 45123
3) 42135

4) 43125
Correct Answer: 43125
Candidate Answer: 43125

QID : 211 - In the following question, select the missing number from the given series.
3,5,9,17,33,65,?
frefafaa weT # g M fimedt & & g 3ie a Hifsrg

3,5,9,17,33,65,?
Options:

1) 126

2) 127

3) 128

4) 129
Correct Answer: 129
Candidate Answer: 129

QID : 212 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
M,P,S,V,?
T 373N T T €, o | U Ue W g 12T e fawedt § O 98 WE fawed g, St 3TImh @ I

M,P,S,V,?
Options:
1)V

2)W

3)X

4)Y
Correct Answer: Y
Candidate Answer: Y

QID : 213 - In the following question, select the odd word from the given alternatives.

fmfefaa weT # iy 70 fawedl # I fawm 2z @1 giT
Options:

1) Guitar

filer

2) Sitar

&R

3) Harmonium

ERATAH

4) Violin

AR

Correct Answer: Harmonium

Candidate Answer: Violin

qRt




QID : 214 - In the following question, select the odd number pair from the given alternatives.

frmfefaa weT # Gy v fFeedl # I fawm Fwar gm &1 gfv

Options:
1) 25-125

2) 36 - 216
3) 16 - 128

4) 64 - 512
Correct Answer: 16 — 128
Candidate Answer: 16 — 128

QID : 215 - In the following question, select the odd letters from the given alternatives.

frfefea weT W g M et § F fawm s1erT &1 g

Options:
1) EF)

2) MNR
3) STX

4) DEJ
Correct Answer: DEJ
Candidate Answer: DEJ

QID : 216 - Identify the diagram that best represents the relationship among the given classes.
Male, Teacher, Truck

Ig ARG AT S A g 70 it & dia S Fay 1 aE FRevoT Far 8
YN, 3ATIF, Th

Options:
1)

@

2)

3)

S50

4)

©

Correct Answer:

S50

Candidate Answer:

S50




QID : 217 - In the following question, select the related word from the given alternatives.
Vacant : Empty : : Abduct: ?
fAfafaa weT # &y My fawedl # & Fdfda o BT gl

et : Rem : : A ST : ?
Options:

1) Distort

VT

2) Grace

Kot

3) Favour

ERUES
4) Kidnap
STTEOT

Correct Answer: Kidnap
30T

Candidate Answer: Kidnap

3TEROT

QID : 218 - In the following question, select the related number from the given alternatives.
82:36::91:?

frafafea meT # Ry 10 el § & Heifea dwar w1 gfivl

82:36::91:?

Options:
1) 169

2) 100

3) 36

4) 64

Correct Answer: 64

Candidate Answer: 64

QID : 219 - In the following question, select the related letters from the given alternatives.
BAKE : ZYIC:: MOUN:?

ffefEa meT ¥ iy v fiwent § I Taifia srert 3 vl

BAKE : ZYIC:: MOUN:?
Options:

1) KLSK

2) JLRK

3) KMSL

4) JMRL
Correct Answer: KMSL
Candidate Answer: KMSL

QID : 220 - In the following question, select the word which cannot be formed using the letters of the given word.
INVESTIGATION
frfafaEa faeedl # 3 98 erea gAY =11 T 717 212 & AaRT T T Hb 6l 1T ST qebal

INVESTIGATION
Options:

1) INVEST

2) NOISE

3) STIGMA

4) SENT

Correct Answer: STIGMA
Candidate Answer: STIGMA

QID : 221 - P is younger than Q, Q is elder than R, R is younger than P and S is elder than Q. Who is the eldest among P, Q, R and S?

PQIBIEIE Q RIATETE R PIABRIZAAS, QUSRI P, Q, RAATS H A Ty a1 Bl 27




Options:
1)P

2)Q
3)R

4)S
Correct Answer: S
Candidate Answer: S

QID : 222 - Ashok remembers his birthday is after 215t December. While his mother remembers his birthday is before 23" December. On which date of December is
his birthday?

31N B TG ¢ Tb 3BT T 21 RAmR & 1€ €1 TTdfds 39h! HIaT B A1E § b 39T i 23 GamR A ugel 21 39T A ek Y fobwy fafer o1 22

Options:
1) 21

2) 24
3)22

4) 23
Correct Answer: 22
Candidate Answer: 22

QID : 223 - In the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they seem to
be at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:
1. Some curtains are long.
I1. Some long are short.

Conclusions:
1. Some long are curtains.
II. Some short are curtains

A Ry T¢ 7o A FB P 3R I 971G 37 HaAl W ARG $& Fwp A7 ¢ &, gerifes 370 AT A1 aeall J ietar 81wt 81 Wit fsed o¢ 37k fiw fufa & 6 g
MY B I e, R M7 Hemt & 3R W gfaRmima 2

BY:
1. 3B R AW B
1. & @R B

frsp:

L. 5 T W

II. 35 B T §l

Options:

1) Only conclusion (I) follows.

Fae free (1) T 2

2) Only conclusion (II) follows.

ot free (I1) TE 2

3) Both conclusion follow.

A1 & s W

4) Neither conclusion (I) nor conclusion (II) follows.
T ar e (1) 7 & f=ed (1) 98t 81

Correct Answer: Only conclusion (I) follows.

et Tspy (1) T8l 21

Candidate Answer: Only conclusion (I) follows.

Baet TRy (1) T 21

QID : 224 - In a certain code language, "AGO" is written as "BHP". How is "CRY" written in that code language?

veps faferse wig v ¥, "AGO" @1 "BHP" & Siar €1 37 Pig HTST § "CRY" & fisy wepR ferzam smom?

Options:
1) DTA

2) DSZ
3) DSX

4) BSA
Correct Answer: DSZ
Candidate Answer: DSZ

QID : 225 - In a certain code language, "MAT" is written as "32" and "MAD" is written as "16". How is "MEN" written in that code language?

~

e fafar s W ¥, "MAT" Y "3 fimm



Options:
1) 30

2) 31
3)32

4) 34
Correct Answer: 30
Candidate Answer: 30

QID : 226 - Which of the following number is divisible by 3?

frfafaa ¥ ¥ o o g 3 X foursa @2
Options:

1) 123451

2) 34571

3) 111111

4) 222211
Correct Answer: 111111
Candidate Answer: 111111

QID : 227 - What is the smallest number to be added to 200, so that the obtained number is exactly divisible by 7?

200 ¥ Tt B T FeH BIE ST SAg! A, a1fds v TwAr 7 F gota: frfSia g sme?

Options:

1)4

2)5

3)3

4)1

Correct Answer: 3
Candidate Answer: 4

QID : 228 -

. 1 2 3 1
R—— —_— —_— —‘?
What is the value of1’13 .'123 ‘134 .154.

1 2 3 1
“'3‘”23”32”52 T AT FI7T &7

Options:

1) 51

2)53

3)55

4) 49

Correct Answer: 53
Candidate Answer: 53

QID : 229 - What is the sum of first 50 odd natural numbers?

TF 50 fI5H WG TCATT T AT T 22

Options:
1) 2500

2) 2550
3) 2475

4) 2525
Correct Answer: 2500
Candidate Answer: 2500

QID : 230 - The smallest number to be subtracted from 600, so that the obtained number is completely divisible by 9?

600 I U I | T BIET AT BeTE SAIY, AMfes wred e 9 F yufa: fennfSier & smo?

Options:
1)3

2)6
3)7

4)4
Correct Answer: 6




Candidate Answer: 6

QID : 231 - The sum of three consecutive even integers is 156. What is the smallest integer among them?

A SFHITA TH quIfeRt T AT 156 B 3T F Wed ier quifes R &2

Options:

1) 50

2)52

3)54

4)48

Correct Answer: 50
Candidate Answer: 50

QID : 232 - A can do a piece of work in 16 days. He worked for 4 days and B finished the remaining work in 24 days. B alone can do the whole work in how many
days?

A {3l &k Y 16 f&AT A o Tamem 21 39 4 137 Frf fobam e 9 &rf B ¥ 24 A § gy fasam| B 3o Q¥ 1 Y {San &A1 o g1 o2 epar 2?2

Options:

1) 28

2)32

3)36

4) 42

Correct Answer: 32
Candidate Answer: 32

QID : 233 - Three taps A, B and C can fill a tank in 30, 36 and 45 hours respectively. How long (in hours) would the three taps take to fill the tank if all of them are
opened together?

@ 7 A, B @i C Bt &1 & smel: 30, 36 a9 45 e B 2R Thd &1 I A1 e b T12f T Y 14 &, a7 Y T bt Bl 1R ¥ b ama (e ®) o

Options:
1)4

2)8
3)12

4)7
Correct Answer: 12
Candidate Answer: 12

QID : 234 - If the diagonal of a square is 20 cm, then what is the area (in cm?) of the square?

afe; fesat anf @1 faeof 20 A, ¢, a1 arf @1 derper (41,2 ) @y &2

Options:
1) 200

2) 100v2
3) 200v2

4) 100
Correct Answer: 200
Candidate Answer: 200

QID : 235 - The marked price of an article is Rs 1320 and is sold at a discount of Rs 462. What is the discount percentage?

T % BT 3ifeba Hed 1320 S 8 qT 3 462 T I BE W T ST 81 B Al o= 82

Options:
1) 20

2) 25
3) 35

4) 45
Correct Answer: 35
Candidate Answer: 35

QID : 236 - The marked price of an article is 30% more than its cost price. If a discount of 10% is given, then what is the profit percentage?

T GG BT 3ifRd T 3P 6 T § 30% 31fEw €1 I 10% T ge & S, af | Hfder a1 82

Options:
1) 12

2) 15

3)17

AN 14




Correct Answer: 17
Candidate Answer: 17

QID : 237 - Two numbers are in the ratio of 4 : 5. If 8 is subtracted from each, then the new ratio becomes 16 : 21. What are the two numbers?

Q) HEATT 4 ¢ 5 3guTd ¥ &1 9 7S § & 8 Ferdy I, at T4 3G 16 : 21 8 Siar §1 QA GeA o €2

Options:

1) 40 & 50
2)15& 20
3)60 & 75
4) 48 & 60

Correct Answer: 40 & 50
Candidate Answer: 40 & 50

QID:238-IfA:B=3:7andB:C=2:3,thenwhatisA:B:C?

EA:B=3:7dB:C=2:38, AMA:B: CRITE?

Options:
1)6:7:21

2)6:14:21
3)6:7:8

4)7:6:14
Correct Answer: 6: 14 : 21
Candidate Answer: 6: 14 : 21

QID : 239 - The average of 16 numbers is 6. If one number is excluded, the average becomes 5. What is the excluded number?

16 TTATHY BT 31T 6 B1 T Teh T g1 & A, AT 3ARAd 5 & ST1aT &1 gers T T 9y 82

Options:
1) 21

2) 23
3) 24

4) 20
Correct Answer: 21
Candidate Answer: 21

QID : 240 - By selling an article for Rs 420, a shopkeeper gains 5%. To gain 10% what should be the selling price (in Rs)?

Teb a5 Bl 420 W I W Yeb GPHMER Bl 5% T Bl &1 10% T BHM o foi faehar gy (3 &) oo gir =nfe?

Options:
1) 380

2) 440
3) 460

4) 465
Correct Answer: 440
Candidate Answer: 440

QID : 241 - If the profit is 50%, then what will be the ratio of cost price to selling price respectively?

TfE AT 50% &, Y LN T e T Tsha W T 3dTd T gir?

Options:

1)2:3

2)3:4

3)4:5

4)5:6

Correct Answer: 2 : 3
Candidate Answer: 2 : 3

QID : 242 - In a school 40% of the students are girls. If number of boys is 420, then what is the total number of students in the school?

T et 1 40% faamelf wefisat 1 af et BT Tear 420 2, d fenera  $ot fbe faremeff €2

Options:
1) 700

2) 1200
3) 1320

4) 1440




Correct Answer: 700
Candidate Answer: 700

QID : 243 - A number is first decreased by 40% and then increased by 40%. If the number so obtained is 64 less than the original number, then what is the value
of the original number?

Tep ST Bl gt 40% I Terar ST & a7 {5 40% F SeraT STidT &1 IfE Wed WaT aRafdsd ST A 64 B 8, a1 aRafded TS &7 7 =7 87
Options:

1) 480

2) 400

3) 360

4) 420
Correct Answer: 400
Candidate Answer: 400

QID : 244 - Speed of a boat along the current and against the current are 16 km/hr and 14 km/hr respectively. What is the speed of boat (in km/hr) in still water?

T ATa I T ¥RT & IR qAT URT & Hidget HAel: 16 bl /e qarr 14 fob. M. /der 21 i ster # ara &1 nfa (fos. . /=er #) o= €2

Options:
1)1

2)3
3)75

4) 15
Correct Answer: 15
Candidate Answer: 15

QID : 245 - A man travels 2 hours of the journey at a speed of 40 km/hr and remaining 3 hours of the journey at 50 km/hr. What is the average speed (in km/hr) of
the entire journey?

T Afed I & 2 He, 40 135,77, /85er P1 fd F T2 &y 3 w0, 50 fob. it /e i ¥ a7 e 81 wwgef am & siiwa nfd (fas. . /=er #) a=m €2
Options:

1) 45

2) 46

3)38

4) 47

Correct Answer: 46

Candidate Answer: 46

QID : 246 - A certain principal invested in a scheme of compound interest. The amount obtained after 2 year is Rs 2420 and the amount obtained after 3 years is Rs
2662. What is the rate of interest (in percentage)?

o fAfeda e Tepgie: SATST Bt Ve ATSrT W (g fosam mam| 2 o geand e g3 s 2420 % & dam 3 af woand Wi g37 s 2662 % €1 & & & (wfderd #) & 82
Options:

1) 10

2) 12

3) 18

4)15

Correct Answer: 10

Candidate Answer: 10




QID: 247 -

The table given below shows the sales (in crores) of
2 companies X and Y from years 2010 to 2015.

@ & 9 arforer # I¥ 2010 @ 2015 G 2
Fafaar X dor Y & & (30g #@) Fr g m@
gl

Year | ok Company / &9t

X Y
2010 300 200
2011 240 300
2012 720 750
2013 800 800
2014 900 700
2015 800 1000

What is the average sale (in crores) of company X from year 2010 to 2015?

Tt 2010 ¥ % 2015 e ST X BT i faeht (@0 #) T §?

Options:

1) 630

2) 262.66

3) 700

4) 626.66

Correct Answer: 626.66

Candidate Answer: 626.66

QID: 248 -
The table given below shows the sales (in crores) of
2 companies X and Y from years 2010 to 2015.

Hr & S e & a¥ 2010 ® 2015 9% 2
FATAT X T Y HT &ehr (FUS H)  g=A=r 912w
gl

Year | a6 Company / $9a1

X Y
2010 300 200
2011 240 300
2012 720 750
2013 800 800
2014 900 700
2015 800 1000

For how many years, the sale of company X was greater than that of company Y?

foper af & fAw, Surt X $ fasht ot Y 3 sifees off?

Options:
1)1

2)2
3)3

4) 4
Correct Answer: 2
Candidate Answer: 2

- — —
I e s L A T e T



QID : 249 -

The table given below shows the sales (in crores) of
2 companies X and Y from years 2010 to 2015.

@ & 9 arforer # I¥ 2010 @ 2015 G 2
Fafaar X dor Y & & (30g #@) Fr g m@
gl

Year | ok Company / &9t

X Y
2010 300 200
2011 240 300
2012 720 750
2013 800 800
2014 900 700
2015 800 1000

What is the percentage change in sale of company Y from year 2011 to 2012?

av 2011 J a9 2012 T oAt Y BI fasht # febaar wfdera afiadT gam 82

Options:
1) 100

2) 225
3) 150

4) 125
Correct Answer: 150
Candidate Answer: 150

QID : 250 -

The table given below shows the sales (in crores) of
2 companies X and Y from years 2010 to 2015.

dr & o aiferer & I 2010 ¥ 2015 T 2
Fufaar X aor Y & &6 (307 #@) Fr g m
2l

Year | 7§ Company / 9=t

X Y
2010 300 200
2011 240 300
2012 720 750
2013 800 800
2014 900 700
2015 800 1000

What is the difference (in crores) between the sale of company X in 2012 and company Y in 2015?

g 2012 ¥ ST X 7T a9 2015 H S Y BT bl F T e (FRIS H) FaT 82

Options:
1) 30

2) 300
3) 80

4) 280

- — —
Correct Answer: 280 I e s i A T



Candidate Answer: 280

QID : 251 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

Even as the city was pummelled (1)/ by heavy rains, people in Mumbai (2)/ opened their homes and hearts for strangers. (3)/ No Error (4)
Options:

1)1

2)2

3)3

4)4

Correct Answer: 3

Candidate Answer: 3

QID : 252 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

Meanwhile, heavy rains has continue (1)/ in Marathwada region while rivers (2)/ in adjoining Raigad district were in full spate. (3)/ No Error (4)

Options:

1)1

2)2

3)3

4)4

Correct Answer: 1
Candidate Answer: 1

QID : 253 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

How much have you spent your car?

Options:

1) of

2) on

3) from

4)in

Correct Answer: on
Candidate Answer: on

QID : 254 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

Do not laugh other's bad times.

Options:

1) for

2)at

3) about

4) on

Correct Answer: at
Candidate Answer: at

QID : 255 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Revolt

Options:

1) Harmony

2) Riot

3) Peace

4) Submit

Correct Answer: Riot
Candidate Answer: Riot

QID : 256 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Scowl

Options:

1) Grin

2) Frown

3) Smile

4) Laugh

Correct Answer: Frown
Candidate Answer: Grin

I..{mﬁ, P LA e T O e OO v 5 R E o




QID : 257 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Stable

Options:

1) Anchored
2) Shaky

3) Wobbly

4) Inconstant

Correct Answer: Anchored
Candidate Answer: Wobbly

QID : 258 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Notion

Options:
1) Idea

2) Clue

3) Concept
4) Need

Correct Answer: Need
Candidate Answer: Need

QID : 259 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Loathe

Options:

1) Love

2) Hate

3) Refuse

4) Reject

Correct Answer: Love
Candidate Answer: Love

QID : 260 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Accede

Options:

1) Admit

2) Comply

3) Permit

4) Deny

Correct Answer: Deny
Candidate Answer: Deny

QID : 261 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

To hammer out

Options:

1) To arrive at an agreement
2) To dig

3) To hurt

4) To shrink

Correct Answer: To arrive at an agreement
Candidate Answer: To hurt

QID : 262 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

To look blue

Options:

1) To be happy

2) To be excited

3) To be disheartened
4) To be shocked

Correct Answer: To be disheartened
Candidate Answer: To be shocked

QID : 263 - Improve the bracketed part of the sentence.

Any meaningful negotiation on a future trade agreement (in midst the two) parties hinges on a resolution of these outstanding issues.




Options:

1) amongst the two

2) throughout the two

3) between the two

4) No improvement

Correct Answer: between the two

Candidate Answer: between the two

QID : 264 - Improve the bracketed part of the sentence.

It was an epic final at badminton’s biggest stage, (but it stand out) as the finest advertisement for the women’s game.

Options:

1) and it stood out

2) so it stand out

3) then it stood out

4) No improvement

Correct Answer: and it stood out

Candidate Answer: so it stand out

QID : 265 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

A person who is forced to flee for shelter.

Options:

1) Alien

2) Refugee

3) Traitor

4) Dacoit

Correct Answer: Refugee
Candidate Answer: Refugee

QID : 266 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

An avid book reader.

Options:

1) Bookworm

2) Astronaut

3) Stenographer

4) Calligrapher

Correct Answer: Bookworm

Candidate Answer: Bookworm

QID : 267 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.

Options:

1) Taraceable

2) Traceable

3) Traceble

4) Tracable

Correct Answer: Traceable

Candidate Answer: Traceable

QID : 268 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.

Options:

1) Vealuable
2) Vaeluable
3) Valuable
4) Valueable

Correct Answer: Valuable
Candidate Answer: Valuable

QID : 269 - Rearrange the parts of the sentence in correct order.

Vocational education

P: termed as

Q: can also be

R: job oriented education

Options:

1) PRQ

2) QPR

3) RPQ

4) RQP

Correct Answer: QPR
Candidate Answer: QPR




QID : 270 - Rearrange the parts of the sentence in correct order.

Afforestation means massive
P: program of social forestry
Q: people for fuel, fodder, timber etc.
R: to meet demands to local
Options:

1) QRP

2) QPR

3) PRQ

4) PQR

Correct Answer: PRQ
Candidate Answer: PRQ

QID : 271 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Corruption can be defined as the dishonest or conduct by a person entrusted with a position of authority, often to personal benefits. In simple words,
it can be understood that when a person who is responsible for a task, he/she misuses that position for his/her own benefits. Corruption may include many activities
bribery and embezzlement. Corruption has impacted Indian economy and government so much that it has it's existence from the lower level to the highest
level in the hierarchy of power, from a small village Sarpanch to the Cabinet Ministers of India. Corruption is by the people in power as well as normal people.
Even people bribe government individuals to their work process or to get out of the crime. The level of corruption can be as low as bribing traffic police
officer for not wearing a helmet to the extreme level when private contractors bribe government individuals to get the tender of a public work or to get the job done.

dishonest or conduct by a person entrusted

Options:

1) unethical

2) ethical

3) crucial

4) sore

Correct Answer: unethical

Candidate Answer: unethical

QID : 272 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Corruption can be defined as the dishonest or conduct by a person entrusted with a position of authority, often to personal benefits. In simple words,
it can be understood that when a person who is responsible for a task, he/she misuses that position for his/her own benefits. Corruption may include many activities
bribery and embezzlement. Corruption has impacted Indian economy and government so much that it has it's existence from the lower level to the highest
level in the hierarchy of power, from a small village Sarpanch to the Cabinet Ministers of India. Corruption is by the people in power as well as normal people.
Even people bribe government individuals to their work process or to get out of the crime. The level of corruption can be as low as bribing traffic police
officer for not wearing a helmet to the extreme level when private contractors bribe government individuals to get the tender of a public work or to get the job done.

often to personal benefits.

Options:

1) respire

2) acquire

3) inspire

4) desire

Correct Answer: acquire

Candidate Answer: desire

QID : 273 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Corruption can be defined as the dishonest or conduct by a person entrusted with a position of authority, often to personal benefits. In simple words,
it can be understood that when a person who is responsible for a task, he/she misuses that position for his/her own benefits. Corruption may include many activities
bribery and embezzlement. Corruption has impacted Indian economy and government so much that it has it's existence from the lower level to the highest
level in the hierarchy of power, from a small village Sarpanch to the Cabinet Ministers of India. Corruption is by the people in power as well as normal people.
Even people bribe government individuals to their work process or to get out of the crime. The level of corruption can be as low as bribing traffic police
officer for not wearing a helmet to the extreme level when private contractors bribe government individuals to get the tender of a public work or to get the job done.

many activities bribery

Options:

1) excluding

2) including

3) relieving

4) imbibing

Correct Answer: including
Candidate Answer: including

. — —
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QID : 274 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Corruption can be defined as the dishonest or conduct by a person entrusted with a position of authority, often to personal benefits. In simple words,
it can be understood that when a person who is responsible for a task, he/she misuses that position for his/her own benefits. Corruption may include many activities
bribery and embezzlement. Corruption has impacted Indian economy and government so much that it has it's existence from the lower level to the highest
level in the hierarchy of power, from a small village Sarpanch to the Cabinet Ministers of India. Corruption is by the people in power as well as normal people.
Even people bribe government individuals to their work process or to get out of the crime. The level of corruption can be as low as bribing traffic police
officer for not wearing a helmet to the extreme level when private contractors bribe government individuals to get the tender of a public work or to get the job done.

Corruption is by the people in power

Options:

1) organised

2) reflected

3) initiated

4) created

Correct Answer: initiated

Candidate Answer: created

QID : 275 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Corruption can be defined as the dishonest or conduct by a person entrusted with a position of authority, often to personal benefits. In simple words,
it can be understood that when a person who is responsible for a task, he/she misuses that position for his/her own benefits. Corruption may include many activities
bribery and embezzlement. Corruption has impacted Indian economy and government so much that it has it's existence from the lower level to the highest
level in the hierarchy of power, from a small village Sarpanch to the Cabinet Ministers of India. Corruption is by the people in power as well as normal people.
Even people bribe government individuals to their work process or to get out of the crime. The level of corruption can be as low as bribing traffic police
officer for not wearing a helmet to the extreme level when private contractors bribe government individuals to get the tender of a public work or to get the job done.

government individualsto__ their work
Options:

1) loosen

2) creation

3) fasten

4) resultant

Correct Answer: fasten
Candidate Answer: fasten

QID : 276 - Standard of living depends upon:

L. Per capita income

I1. Gross Domestic product

III. Literacy rate

IV. Availability of health facilities

St @7 TR Rk e &

1. i3 @l 3w
IL. 9 By 301G
III. JeRar &
V. TR YFmaf Hr Iuererar
Options:

1) Only I

e I

2)Only II & IV
PBaa 11 qar IV

3) Only II and III
B II e 11T

4) AlL T, 11, TIT & IV
I, 11, 111 dem IV

Correct Answer: Only I
FHaer I

Candidate Answer: All I, II, IIT & IV
it 1, I1, II1 der IV

QID : 277 - Double coincidence of wants is an essential feature of

SBT3 BT AT AT P e rfarf faermar 21

Options:

1) Credit system
Hfee yorelt

2) Money system
HET JOTA

3) Barter system
g fafim gomrert
4) Banking system
SfdT yoTret

e B e e Y/
I e s i s ST T e s NN v



Correct Answer: Barter system

a¥g fafTwar yomet

Candidate Answer: Credit system

pise FoTTet

QID : 278 - According to which fundamental right ‘All the people are equal before law?

o5 Hifcies 31fUPR & d8a ‘BT & ToR § T @ TAE 87

Options:

1) Rights to freedom

AT BT ABR

2) Cultural and Educational Rights
TiepTae 31 deifies sfteR

3) Right to Equality

JHMAT BT AUER

4) Right against Exploitation
20T & fawg sfeeR

Correct Answer: Right to Equality
TAMAAT BT AEHR

Candidate Answer: Right to Equality
HHAT T AR

QID: 279 - improves the quality of decision making.

g frofa o F Iamaar o1 gomar B

Options:

1) Monarchy
ST

2) Autocracy
Tl

3) Aristocracy

4) Democracy
Arpast

Correct Answer: Democracy

GICES

Candidate Answer: Democracy

GIGTES

QID : 280 - Who was the editor of Marathi newspaper, 'Kesari'?

Options:

1) Bipin Chandra Pal

o o o

2) Dadabhai Naoroji
AR

3) Lala Lajpat Rai

GIGIRINEGRIE]

4) Bal Gangadhar Tilak

e TR fdds

Correct Answer: Bal Gangadhar Tilak
qret TR faerds

Candidate Answer: Lala Lajpat Rai
TATCAT ToTud I

QID : 281 - Which part of India was mainly ruled by Pallavas and Chalukyas?

YR BT B AT (63T T30 9 Teea qeil ST gRT 2 &r?

Options:
1) Northern
I

2) Southern
aferott
3) Eastern

ksl

4) Western
gfeet

Correct Answer: Southern

afarf

Candidate Answer: Southern




QID : 282 - What fraction of Earth's diameter is the diameter of the moon?

gedt & T T fdaT M1 <IgHT % I & RIS &2

Options:

1) 1/2

2)1/3

3)1/4

4) 1/6

Correct Answer: 1/4
Candidate Answer: 1/6

QID : 283 - The surface lowered by the process of erosion can be rebuilt by the process of

3R B fobar & gRT Aacl wag o1 Fmfer B ufthar gR1 g 8 Tear 21

Options:
1) Evaporation

2) Sedimentation

37T

3) Deforestation

T Y Pers

4) None of these

T I P TE

Correct Answer: None of these
TH q PIE TE

Candidate Answer: None of these

ST 9 IS T8I
QID : 284 - Cholesterol is related to .

FORGA BT I Rl
Options:

1) Fats

A

2) Starch

w3

3) Proteins

e ¥

4) Minerals

@fet geref |

Correct Answer: Fats
qar

Candidate Answer: Fats
T

QID : 285 - Rate of transpiration in a dorsiventral leaf is

T TEBTER T H ATSHIeotT Y &X idt 81
Options:

1) Lesser at the surface

qdg W B

2) Greater at the lower surface

el Fde W Fed 31fie

3) Equal at both the surfaces

SHI Fagl W EAE

4) None of these

TH | B TEH

Correct Answer: Greater at the lower surface

fierel Tde R I 1feie

Candidate Answer: Lesser at the surface
g W BA

QID : 286 - Cod liver oil is source of

Pre o sitaa EIRC GRS
Options:

1) Vitamin K

faerfim K

2) Vitamin C

faerfi C

3) Iodine

AEA

4) Vitamin A

faerfim A




Correct Answer: Vitamin A
faerfi A

Candidate Answer: Vitamin K

i K

QID : 287 - What is the basic unit of speed?

T BT T HIHAB T &2
Options:

1) Kilometre/Minute
faarite/fime

2) Metre/Minute
Hiey/fime

3) Kilometre/Hour
foardieR/der

4) Metre/Second
Hiex/Jdvg

Correct Answer: Metre/Second

e /ABUS

Candidate Answer: Metre/Second

ey /Jwus

QID : 288 - What happens when the filament inside the bulb is broken?

S 979 F 3ie BT dg g8 ST &, 79 a7 Bl 82

Options:

1) Bulb glows more intensely

d 31R e I ST &

2) Bulb glows with very low intensity
o9 Igd B diedl F STedT &

3) Bulb gets fused

od WY Bl STl &

4) No change happens

P after TEl gt

Correct Answer: Bulb gets fused
el TS B STl B

Candidate Answer: Bulb gets fused
o WY B STl &

QID : 289 - Which of the following is related to a spam?

i fFArfefed & 9 fa & deifea 82

Options:

1) e-Mails

ER]

2) Operation softwares
TR AR

3) Games

™

4) Modems

AleH

Correct Answer: e-Mails
B
Candidate Answer: e-Mails

ERcH
QID : 290 - The symbol of Tin is .

&1 &1 wedtes H|

Options:
1) Sn

2)d
3)T

4)Tn
Correct Answer: Sn
Candidate Answer: Tn

QID : 291 - Elements in a period have same

e iy ¥ d & THA Bl 71




Options:

1) Number of valence electrons
HIISIP SeiagiAl o Tl

2) Valency

GRISET

3) Number of shells

Pell B T

4) Volume

33Mgd—T

Correct Answer: Number of shells

Fell B T

Candidate Answer: Number of valence electrons

- T )
QID : 292 - At which level of the food chain do the herbivores or the primary consumers exist?

SAMEPTEIRY 372faT A ITTRIT Tl SRl & i I I TR | g 8 €7
Options:

1) First

R

2) Second

3) Third

4) Fourth
g
Correct Answer: Second

feeita

Candidate Answer: Second

QID : 293 - Which of the following is NOT included in the mission of Digital India?

FrafafEa ¥ 3 o e s ¥ affifa T8 22
Options:

1) To create digital infrastructure
festied SREARR o791 & fag

2) Delivering services digitally
Jarni & feoitea v9 A faafia wm
3) Digital literacy

festew wmerar

4) None of these

FTH A PIE T

Correct Answer: None of these
T A B T

Candidate Answer: None of these

& @ B &

QID : 294 - Who invented Braille?

S BT MAHR e fasar am?

Options:

1) William Harvey
faferam gt

2) Charles Babbage
e ST

3) James Young Simpson

S A fwae

4) Louis Braille

[ERECH

Correct Answer: Louis Braille
ESCE]

Candidate Answer: Louis Braille

& e

QID : 295 - A Kabaddi team consists of how many players?
g BT UH A A fdsa et g €7




Options:
1)5

2)6
3)7

4)8
Correct Answer: 7
Candidate Answer: 7

QID : 296 - At which place can the best specimens of Gupta paintings be seen?

T 2 T TS T 3 oTE W E?

Options:
1) Narsinghgarh
z i.g a

2) Ellora
TART

3) Ajanta
31SidT

4) Bhimbetka
WirgeasT

Correct Answer: Ajanta
HSidr

Candidate Answer: Bhimbetka
WindeswT

QID : 297 - Which city has become the first Indian city to win 'Pierre L'enfant International Planning Excellence Award 2017' instituted by the American Planning
Association?

AR TATHT THRITLMA gRT TMfUd g Uet Tthe SexreMe Wi Tagad 37dTs 2017' 1 it aTalT HI- AT 28R HRd BT UgaT Qe &7 87
Options:

1) Bhubaneshwar

FGEREH

2) Kolkata

BIcTBIdT

3) Hyderabad

TR

4) Meerut

RS

Correct Answer: Bhubaneshwar
YT
Candidate Answer: Meerut

S

QID : 298 - Who is the author of the book named “Pinjar”?

Options:

1) Laxmi Sehgal
et qETe

2) Vijay Darda
faota &er

3) Amrita Pritam
3T Waw

4) Tarun Khanna
BT GT

Correct Answer: Amrita Pritam

31gat S

Candidate Answer: Vijay Darda
oo war

QID : 299 - How many members are their in the G20 group?

STt 20 |g H fdse A €2
Options:

1) 20

2)8

3)12

4) 16

Correct Answer: 20
Candidate Answer: 20




QID : 300 - Which of the following is NOT included in the terms of reference of Joint Working Group on fisheries set up by India and Sri Lanka?

HRA T SfteieT GIRT RATfod 73Rl R Hgad &1 Ag & FeHf &1 2l § fimfafed ® F i anfie 78 82

Options:

1) Ending the practice of bottom trawling at the earliest
e I SR ATt deTal W HSelt Udbe &b e

2) Returning fishermen arrested

FRUAR TR BT AT

3) Joint patrolling

g Ted

4) Profit sharing

oM

Correct Answer: Profit sharing
N ATEERT

Candidate Answer: Profit sharing

AT TSR



